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Capire lamoltiplicazione dei decimali Nome:

Risolvi ogni problema.

1) Se5x2=10,alora0.005x0.2=

2) Se3x2=6,adlora0.003x0.2=

3) Se6x10=60,alora0.6 x0.01=

4) Se10x2=20,alora0.01 x 0.02 =

5) Se3x10=30, alora0.003 x 0.01 =

6) Se6x4=24 dlora0.6 x 0.004 =

7) Se10x 3=230,dlora0.1x0.03=

8) Se6x6=36,adlora0.6x0.6=

9) Se8x3=24,dlora0.008 x 0.3=
10) Se5x4=20,dlora05x04=
11) Se7 x4 =28, allora0.007 x 0.004 =
12) Se4 x9=236, allora0.004 x 0.09 =
13) Se7x10=70, allora0.7 x 0.01 =
14) Se3x 6=18,alora0.03 x 0.06 =
15) Se7x3=21,dlora0.7 x 0.03=
16) Se5x 6 =30, alora0.05 x 0.006 =
17) Se3x10= 130, allora0.03 x 0.01 =
18) Se6 x 9=154, allora0.006 x 0.009 =

19) Se9x4=236,alora0.09x0.4=

20) Se2x2=4 dlora0.2x0.02=
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ﬂh Capire lamoltiplicazione dei decimali

Risolvi ogni problema.

Nome: Soluzioni
Risposte
1) Se5x2=10,alora0.005x 0.2= 0,001
1 0,001
2) Se3x2=6,dlora0.003x0.2= 0,0006
2 0,0006
3) Se6x10=60, dlora0.6x0.01= 0,006
3 0,006
4) Se10x2=20,alora0.01x0.02= 0,0002
4 0,0002
5) Se3x10=30, alora0.003 x 0.01 = 0,00003
5 0,00003
6) Se6x4=24 alora0.6 x0.004= 0,0024
- 6. 0,0024
7) Se10x3=230,alora0.1x0.03= 0,003
- 7 0,003
8) Se6x6=36,4alora0.6x0.6= 0,36
- 8 0,36
9) Se8x3=24, alora0.008 x 0.3= 0,0024
- 9 0,0024
10) Se5x4=20,alora05x04= 0,2
10. 012
11) Se7 x4 =28, dlora0.007 x 0.004 = 0,000028
- 1. 0,000028
12) Se4x9=36, dlora0.004 x 0.09 = 0,00036
- 12 0,00036
13) Se7x10=70, dlora0.7x0.01= 0,007
- 13, 0,007
14) Se3x6=18, adlora0.03x 0.06 = 0,0018
- 14.  0,0018
15) Se7x3=21,dlora0.7x0.03= 0,021
- 15, 0,021
16) Se5x6=30, alora0.05 % 0.006 = 0,0003
- 6.  0,0003
17) Se3x10=30,dlora0.03x 0.01= 0,0003
- 17 0,0003
18) Se6x 9=>54, allora0.006 x 0.009 = 0,000054
- 18, 0,000054
19) Se9x4=36,adlora0.09x0.4= 0,036
- 19. 0,036
20) Se2x2=4 dlora0.2x0.02= 0,004
- 0. 0,004
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